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M 20s
T 0015 YISTAE 29
el OIS BI=TME L FONKE 2 (cHol: 12
SA - B - GI(3H) - NISAIR - BAS Ol &k e fimE==l
206 TH=Z 4| 2,790 2,746 4
01 M=l 2,790 2,746 44
U= 39,000&+0.1 ¢ »4Z*1663] 2,590
OYALEE 200
Ot BEASKAEIA 2,000 2,000 0
0Pt BASAIMEIA &2435) 2,000 2,000 0
201 Let2Iy| 2,000 2,000 0
01 AtR22lt| 2,000 2,000 0
O=XNAMEIA E2 4 MZ
1,000,000 *13] 1,000
o228 +4 1,000
HY2IZH(L0S) 115,690 111,614 4,076
J=ZHI(Z011S) 115,690 111,614 4,076
Jl2Ze(gons) 115,690 111,614 4,076
201 L2 Y| 78,578 74,502 4,076
01 AtR2t2lt| 18,508 14,432 4,076
OFAM2g JI2+E4| 2,500
OAMRID| 22 3,200
OsE 89 M 70,0002 200K 1,400
Otz =8 420
OtZ@dHIZ Orch 620
-0ty 7 5002 700K = 12& 420
—=T X 200,000& 13| 200
OXA =l 8,0003 x 1864 x 122 10,368
02 2324l 60,070 60,070 0
o®II3 3,500,000 =123 42,000
ORERZ 700,000 x12& 8,400
O&dt=E23 500,000& x12& 6,000
OXSIMI(ER, EI|XH)
158,000 *13] 158
OXsiEs=(E™H, MIIRH)
1,700,000& 13l 1,700
QuEse=Rgza 300,000& 13l 300
ORI Al HOoIETV falZ 192
OF3Ix HA 8 600,000& *13] 600
OM=Z ol 330,000 »23| 660
OXM=== =ZZA 60,0002 *13] 60
202 OiH| 24,192 24,192
01 =UHO4HI 24,192 24,192
Ol 22Kl
20,0003 x18F 142 123 +0 .4 24,192
203 LR =&H| 12,920 12,920
01 J|22G YR FAL| 6,600 6,600
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SN 201S

M HAH2AZH(ZO11S)

SEESTERPIENIIE (chol m2)

SN - A - S9I(EH) - HMRAY - BES Ofl &t e HIDE2
os% 6,600,000 x1& 6,600
02 HRIHARFEY| 720 720 0
OF IR 2= 40,0002 * 18 720
03 AIB=&IH 2| 2,000 2,000 0
OXIHZHA =& L L2 A
2,000,000& 2,000

M EAZSLRF2| 3,600 3,600 0
ORMEEg 22| 300,000 » 128 3,600
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